


х – 1 часть 
2х – 2 число

5х – 2х = 51

I.

II. 3х = 51
3 3
х = 17

Ш. Ответ:  17, 34, 51, 68, 85

5х – 5 число



12 : 4 = 6 : 2

12 : 4 = 18 : 6

6 : 2 = 18 : 6

6 : 3 = 2 : 1



10 : 15 = 16 : 24

15 : 10 = 24 : 16

24 : 15 = 16 : 10

15 : 24 = 10 : 16



0,4 : 2 = 0,8 : 4

1 : 5 = 2 : 10



верное равенство двух отношений.

верно верно

верно



*

К л а с с н а я   р а б о т а.

*

К л а с с н а я   р а б о т а.



№ 1001

12 · 0,6 =

8 · 0,9 =

7,2

7,2

9 · 8 =

6 · 12 =

72

72

12 · 10 =

15 · 8 =

120

120

0,9 · 0,8 =

0,6 · 1,2 =

0,72

0,72



Произведение крайних членов 
пропорции равно произведению её 

средних членов.

c : d = e : f

c · f = d · e a · n = b · m



Доказательство:

· b · n

a · n = m · b

Свойство доказано.



1 · 0,15 =

0,25 · 0,6 =

верно

0,1 · 0,02 =

0,01 · 0,2 =

верно

0,15

0,15

0,002

0,002



25 : 5 = 20 : 4 80 : 10 = 16 : 2



1)   2,  6,   3  и  4.  

2)   6 : 3 = 4 : 2  

3)   8 пропорций  

2 · 6 = 3 · 4  

6 : 3 = 4 : 2  3 : 6 = 2 : 4  

6 : 4 = 3 : 2  

3 · 4 = 2 · 6  2 : 3 = 4 : 6  

2 : 4 = 3 : 6  

3 : 2 = 6 : 4  

4 : 6 = 2 : 3  
4 : 2 = 6 : 3  



Ответ:  нет.

12 · 65 =

22 · 30 =

780

660



6 : 12 = 4 : 8  12 : 6 = 8 : 4  

6 : 4 = 12 : 8  

8 : 12 = 4 : 6  

8 : 4 = 12 : 6  

12 : 8 = 6 : 4  

4 : 6 = 8 : 12  
4 : 8 = 6 : 12  



7

9 = 32

15 = 3 · 5
21 = 3 · 7

25 = 52

35 = 5 · 7

42 = 2 · 3 · 7
49 = 72

15 · 49 = 21 · 35

Ответ:  15, 49, 21, 35



У:   №  1002 – 1003(а,б);  
1004;                  
1006 – 1009(б).
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